

Kekula Übungsblätter: Grundrechenarten

$93 + 5 = \underline{\quad}$

$95 + 4 = \underline{\quad}$

$3 - 0 = \underline{\quad}$

$7 * 2 = \underline{\quad}$

$76 + 19 = \underline{\quad}$

$8 + 1 = \underline{\quad}$

$83 - 37 = \underline{\quad}$

$9 * 10 = \underline{\quad}$

$84 + 10 = \underline{\quad}$

$7 * 10 = \underline{\quad}$

$47 + 29 = \underline{\quad}$

$28 + 67 = \underline{\quad}$

$5 - 2 = \underline{\quad}$

$3 * 0 = \underline{\quad}$

$4 + 32 = \underline{\quad}$

$2 + 4 = \underline{\quad}$

$3 - 0 = \underline{\quad}$

$6 * 9 = \underline{\quad}$

$7 + 43 = \underline{\quad}$

$85 - 13 = \underline{\quad}$

$68 - 1 = \underline{\quad}$

$27 - 25 = \underline{\quad}$

$8 + 10 = \underline{\quad}$

$51 + 42 = \underline{\quad}$

$8 * 1 = \underline{\quad}$

$2 * 9 = \underline{\quad}$

$6 - 7 = \underline{\quad}$

$63 + 10 = \underline{\quad}$

$62 + 23 = \underline{\quad}$

$24 - 19 = \underline{\quad}$

$0 - 0 = \underline{\quad}$

$42 + 40 = \underline{\quad}$

$2 * 5 = \underline{\quad}$

$22 - 19 = \underline{\quad}$

$5 - 1 = \underline{\quad}$

$10 + 0 = \underline{\quad}$

$1 * 6 = \underline{\quad}$

$10 + 9 = \underline{\quad}$

$62 + 11 = \underline{\quad}$

$6 + 4 = \underline{\quad}$

$6 + 1 = \underline{\quad}$

$94 + 3 = \underline{\quad}$

$18 - 11 = \underline{\quad}$

$3 * 2 = \underline{\quad}$

$79 - 38 = \underline{\quad}$

$89 + 10 = \underline{\quad}$

$9 - 3 = \underline{\quad}$

$92 - 48 = \underline{\quad}$

$6 * 4 = \underline{\quad}$

$13 - 13 = \underline{\quad}$

$2 * 5 = \underline{\quad}$

$2 - 0 = \underline{\quad}$

$6 + 23 = \underline{\quad}$

$6 * 93 = \underline{\quad}$

$49 - 41 = \underline{\quad}$

$67 - 59 = \underline{\quad}$

$67 + 5 = \underline{\quad}$

$10 * 5 = \underline{\quad}$

$1 - 0 = \underline{\quad}$

$10 * 8 = \underline{\quad}$

$93 + 6 = \underline{\quad}$

$3 * 7 = \underline{\quad}$

$6 - 5 = \underline{\quad}$

$11 - 9 = \underline{\quad}$

$58 + 24 = \underline{\quad}$

$67 + 25 = \underline{\quad}$

$77 + 22 = \underline{\quad}$

$68 - 27 = \underline{\quad}$

$1 * 3 = \underline{\quad}$

$6 - 4 = \underline{\quad}$

$7 - 1 = \underline{\quad}$

$4 + 5 = \underline{\quad}$

$6 * 6 = \underline{\quad}$

$61 + 0 = \underline{\quad}$

$4 * 10 = \underline{\quad}$